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a3 sin x cos T tan z

43° 0.6820 0.7314 0.9325

44° 0.6947 0.7193 0.9657

45° 0.7071 0.7071 1.0000

46° 0.7193 0.6947 1.0355

47° 0.7314 0.6821 1.0724
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z sin = cos T tan z
43° | 0.6820 0.7314 0.9325
44° | 0.6947 0.7193 0.9657
45° | 0.7071 0.7071 1.0000
46° | 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
? 6.947 3 7.071 @ 7.193

3 7.314



2te sin cos tan

54° 0.8090 0.5878 1,3764
Gl 0.8192 0.5736 1.4281
56" 0.8290 0.5592 1,.4826

@D 8.192 ® 5.736 ® 5.878

@ 8.09 B 829



e sin cos tan
44 0.6947 0.7193 0.9657
45 0,7071 0,7071 1,0000
46 0,7193 0,6947 1,0355
O 1.022 @ 6.947 ® 7.071

@ 9.567 3 10.355
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@ sin z cos T tan x

43° 0.6820 0,7314 0.9325

44° 0.6947 0.7193 0.9657

45° 0.7071 0.7071 1,0000

46° 0.7193 0.6947 1,.0355

47° 0.7314 0.6821 1,.0724
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Z\FE‘ sin l cos | tan

25° 10,42 0.90| 0,46

50° 1 0.760.63| 1,19

70°

0.93/0.34|2.74

Tafolat,

cos 50° + cos 25° X sin 50° — tan 25°
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